BREEECHS T IRBIEBDH D LELBERSEEMRGIE (500Bq/kg (T2 A-134. €2 IA-1370E81E) ) HNEHRASNET,
X2 UL-134, TS OA-137OEEMEICDNTI(E. BRIEF2HT (LN S3HTBZMEREALZED) TEEH.

AR
IRERE 2 = BRES WERR (Ba/kg)
TS 134 TS OA137 2iE
H24.4.17 [0 F AR IRTR REET (<8.1) REET (<7.3) RECT
H24.5.8 |EZBOSIZT IRTR RLEET (<2.7) REET (<2.9) RECT
H24.6.7 |FHJR & REET (<7.7) REET (<6.2) RECT
H24.6.8 | {F IS A SviE REET (<7.4) REET (<5.9) RECT
H24.6.12 |DACS1—X BRERRIK RECT (<8.4) REET (<6.9) RECT
LU IRTR REET (<3.2) REET (<3.6) RECT
H24.6.25 |gzLUL\ElT BZIRETR BEEY (<4.2) 5.7 5.7
LU IRTR RLET (<4.3) 6.97 7
H24.7.4 |2 &5 0%Em z ot RLET (<4.4) REET (<3.8) RECT
H24.7.6 |CAIC»< CAlCw< wHEET (<3.2) BwHEEY (<3.0) REEY
ZEK IR REET (<4.1) REET (<3.6) e
H24.7.12 |28 IR REET (<5.8) REET (<4.7) e
B IR REET (<6.5) REET (<4.3) e
3 Ewbh REET (<3.1) REET (<2.6) e
H24.7.19 |Z&(E HHA wHEET (<3.3) BHEET (<£2.3) REEY
DA bk, REET (<3.0) REET (<2.9) e
P IR REET (<3.5) REET (<3.9) REET
KIREERE = REET (<2.9) REET (<2.6) REET
Z5%h sk, REET (<8.6) REET (<7.7) REET
H24.82 [SEA sk, REET (<10) REET (<7.0) REET
OvDE sk, REET (<7.1) REET (<7.8) REET
z3 sk, REET (<9.0) REET (<9.6) REET
H24.8.17 [250A, sk, REET (<9.2) REET (<7.1) REET
SEh sk, REET (<8.9) REET (<6.9) REET
ey sk, REET (<9.0) REET (<5.2) REET
H24.8.22 [2(% sk, REET (<9.7) REET (<6.1) REET
3 sk, REET (<7.9) REET (<6.8) REET
SEh sk, REET (<7.9) REET (<6.6) REET
H24.8.29 [0PD= whh REET (<7.6) REET (<7.8) REET
Z56A sk, REET (<8.7) REET (<7.4) REET
FRRS1—X BRI REET (<7.7) REET (<7.2) REET
s ogs [FXFZA=X BRI REET (<7.7) REET (<7.5) RECT
ovoE Tk, REET (<9.) REET (<7.2) RECT
ovoE Tk, REET (<8.1) REET (<7.5) RECT
Z5%h Tk, REET (<8.9) REET (<8.6) RECT
ono1s B2 Tk, REET (<7.8) REET (<8.0) RECT
KIRERE = REET (<2.8) REET (<2.6) RECT
DUk e REET (<2.3) REET (<3.1) RECT
3 Bk REET (<7.) REET (<8.4) RECT
H24.10.25(2 (% Tk, REET (<9.8) REET (<9.6) RECT
3 Tk, REET (<8.7) REET (<8.8) RECT
H24.11.1 | 238 IR REET (<5.0) REET (<4.0) RECT
3 hh REET (<10) REET (<9.3) RECT
3 Tk, REET (<9.7) REET (<6.1) RECT
H24.11.9 |23 Tk, REET (<9.6) REET (<7.2) RECT
ExE IR REET (<11) REET (<8.7) RECT
Z(E HHA BHEET (£2.6) wHEE9 (<3.5) mEEY
H24.11.12(&565 558 wHE9 (<5.5) 11 11




POUTEE = REET (<5.6) REET (<5.5) RECT
>FSHTIEE b=t 5.01 7.55 13
H24.11.16(Z(Z 82 A HwHEEY (<£9.5) BHEEY (<10) BHEEY
CoSRASEA bk, RECT (<4.4) REET (<3.3) RECT
3 Tk, REET (<11) RECT (<8.4) RECT
3 Tk, REET (<3.9) REET (<3.3) RECT
H24.11.22(Z&(Z 8ZA BmEEY (<£3.8) BEEY (<3.4) BHEEY
wZhh, Tk, REET (<6.7) REET (<9.8) RECT
H24.11.26|265 58 REET (<5.1) REET (<4.3) RECT
Eres IR REET (<6.1) REET (<4.5) RECT
ot 11 20| BTD IR REET (<3.3) REET (<3.0) RECT
3 Tk, REET (<10) RECT (<8.4) RECT
EET e REET (<6.8) RLET (<4.8) RECT
H24.12.4 | F Ui RRE REET (<7.2) REET (<5.7) RECT
I TS IR REET (<5.0) REET (<3.8) RECT
BOF LA IRER REET (<3.4) REET (<3.7) e
H24.12.13 | Fh R HEPR = REET (<3.3) REET (<3.6) e
H24.12.14|5 A 82D A wHEEY (<£9.3) wHEEg (£7.5) REEY
A = REET (<4.1) REET (<3.3) e
FIVREERE = REET (<3.8) REET (<3.9) e
e 1o [FYT TRRE REET (<4.2) 33 33
FIVREERE = REET (<7.8) REET (<7.5) e
H25.1.10 |BRIER = REET (<3.6) REET (<3.6) REET
H25.1.11 | T50A sk, REET (<11) REET (<8.8) REET
H25.1.17 |ODDE BZ8HA wHE9 (<£9.5) wHE9 (<£9.5) REEY
o193 |EPODUES0E  [Em REET (<6.5) REET (<7.0) REET
EERR = REET (<2.4) REET (<2.1) REET
RS = REET (<3.3) REET (<3.2) REET
SEh sk, REET (<8.4) REET (<8.1) REET
e 190 BE5 58 REET (<4.4) REET (<2.9) REET
R N OEOTS IRTR REET (<8.7) REET (<8.4) REET
c565 58 REET (<9.3) REET (<7.3) REET
H25.2.7 [PEBPB5 58 REET (<11) REET (<8.3) REET
3 bk, REET (<6.0) REET (<4.3) REET
H25.2.15 |HEDHA A BwHEET (<£6.4) BwHEE9 (<£6.1) mEEY
H25.2.20 | 2@ sk, REET (<9.2) REET (<9.5) REET
SE2T R REET (<3.7) REET (<4.1) REET
H25.3.1 (55 IR REET (<9.7) REET (<9.5) RECT
3 Tk, REET (<11) REET (<7.1) RECT
R REERE = REET (<2.1) REET (<1.7) RECT
H25.3.7 |FnvsEEeR = REET (<4.2) REET (<3.2) RECT
3 Tk, REET (<11) REET (<8.8) RECT
A, - TR
A g B BRES WERR (Ba/kg) _
2O /A-134 2O /A-137 =YL
H24.4.6 |7, =) REET (<1.4) REET (<1.6) RECT




uiEA

1R = BRES WERR (Ba/kg)
SO h-134 S JNEEY, aHiE
ne1a B e REET (<7.6) REET (<7.8) Fromee
= e REET (<7.8) REET (<7.5) Fremee
a 10 B R REET (<7.6) RIEET (<6.8) Fremee
= R RIEET (<6.8) RIEET (<6.4) Fremee
» ZOMORS
e 2 B BRES WERR (Ba/kg)
TS A-134 S JNEEY, aEiE
H24.4.4 | ORSvAs Sy RIET (<6.1) REET (<5.0) Fremee
RAAIR IRER REET (<8.8) REET (<7.9) Fremee
RHoh 55 REET (<10) RIEET (<8.3) Fremee
DT UAR IRER REET (<12) REET (<11) Fremee
H24.4.6 [T55 IRER RECT (<12) REGT (<7.8) RECT
nEE5 58 REET (<9.1) REGT (<7.8) RECT
RHo5 58 REET (<12) RECT (<8.4) RECT
RHAR IRER RECT (<14) REET (<12) RECT
N = REET (<7.0) REET (<7.7) RECT
*x= 2 REET (<11) REET (<9.0) RECT
ona1s EPT AR REET (<7.1) REET (<7.2) RECT
TREDHE HTINLTHR wHEET (<£7.0) ®wEE9 (<5.0) mHEE9
H24.4.17 |(XBHD FBEHD wHEET (<£6.3) BmEET (<4.8) mHEE9
H24.4.23 |2 AR REET (<6.2) REET (<5.8) RECT
nsg |ETERE P RECT (<7.2) REET (<6.9) RECT
=50 P REET (<9.6) REET (<6.9) RECT
H24.5.24 |#8F L b=t7)| 14.1 16 30
H24.6.1 |LLMHZ HTINI 5 wHEE9 (<5.3) wHEE9 (<5.6) mEEY
nea [EEED IR 21.8 22 44
He AR REET (<8.1) REET (<5.3) RECT
H24.6.8 |205DHIEE = REET (<6.5) RECT (<4.4) RECT
Y 25 SkE REET (<5.7) REET (<6.7) RECT
SAE SkE RECT (<7.8) REGT (<6.3) RECT
H24.7.19 |2 AR REET (<7.1) REET (<5.9) RECT
B2t IR RECT (<13) BREGT (<11) RECT
H24.7.27 [B7%H IR RECT (<12) BREGT (<11) RECT
BHRL £ S OR = REET (<7.6) REET (<5.9) P
nea |E555 58 BREET (<11) REET (<8.1) e
c555ZALBS | |ETAE REET (<5.1) REET (<6.3) e
H24.9.19 |52 A sk, REET (<9.2) RECT (<7.4) e
S AR REET (<6.4) REET (<5.3) e
He AR REET (<6.0) REET (<8.3) e
H24.11.26|265 58 REET (<9.7) REET (<8.7) e
H24.11.29[7152 IR REET (<13) REET (<8.4) e
H24.12.18[7152 IR BREET (<12) REET (<9.0) e
H25.1.10 [IT52 IR REGT (<14) BREGT (<14) e
H25.1.20 [I152 IR REET (<9.7) REET (<7.0) e




